=GHS

BATTERY HANDLING SYSTEMS

TECHNICAL SUPPORT DEPARTMENT

1.877.BHS.4Y0U
(1.877.247.4968)

M-F 8:00a.m.-5:00 p.m. CT
BHS1.com

BATTERY EXTRACTOR
STROBE & ALARM RETRO KIT
P/N: 80332003

*KIT SHIPS PRE-ASSEMBLED

QTY PART# DESCRIPTION

1 41235060 STANCHION-STROBE

1 E0362 BASE-MOUNTING

1 E0363 STROBE LIGHT-110VAC

1 E0364 AUDIBLE ALARM

1 E0365 BASE-TERMINAL

2 SS0118 SCREW-RHMS-#8-32 X 1"
2 550203 NUT-NILN-#8-32

2 SS0303 WASHER-FLAT-#8

3 HW0402 BOLT-HHCS-3/8-16 X 1"

3 HW0107 WASHER-LOCK-3/8"

3 HW0108 WASHER-FLAT-3/8"-SAE
11 E0601-1 TIE WRAP-4"

2' E0504 16-2 SO CABLE

6' 0130-40306  18-3 SO CABLE

1 E0634 RESTRAINT-3/4"

1 E0618 LOCKNUT-CONDUIT-3/4"

1 E1010 RECEPTACLE-TWIST LOCK
1 E1011 PLUG-TWIST LOCK

1 80332003-i  INSTALLATION INSTRUCTIONS

©2011, Battery Handling Systems Inc.
St. Louis, MO. All Rights Reserved.
11/11 Rev 1



